=
<

(0 @) (rad)
o(d cot(v))

1072

=
2
N

o PETEEIETTT M 1 A R Y1 O 1 X PO Y T o
=1 . ' £ 3 DO e =1
©  Ll4f 5 H : ili mai :
@ L @ 15—"""""'; i1t e
1.2F G i ' : :
F TET : 1l :
- B 1= f of) 30000000 TR feeeemenaaas

=
o
iN

2 3
1 TPlpoT (PCA t%obeamlinélf)

—=— DQM_mkFit_TT_base

—— DQM_mkFit_TT_retrain

= =
= 1]
5 5]
2 =
= =
< -
> o
=2 =2
D b R N I I T T

1072

Ratio

-

B l B R RS ------------
2 3
TPlp?T (PCA tjbobeamliné'f)

o p/p.)

o102

= o T

@ F +

o vt A
1 g +
o + +

1

=
o©
iR

: 2 3
TPlpg)T (PCA t%)obeamlin%)o



	Contents
	Page 1


